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Directions : Answer the following questions
by selecting the correct option.

1.
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Which one is not an archaeological
source?

(A) Coin

(B) Epigraphy
(C) Puranas
(D) Pillar

Who deciphered
Asokan pillars?

the script on

(A) M. Elphinstone
(B) J. S. Mill
(C) J. Prinsep
(D) R. D. Banerjee

Which of the following inscriptions
is associated with king Kharavela?

(A) Hathigumpha

(B) Nanaghat

(C) Aihole

(D) Junagarh

Who is mentioned in the Mehrauli
Inscription?

(A) Chandragupta Maurya

(B) Chandragupta Vikramaditya
(C) Samudragupta

(D) None of them

Which one of the following is not a
Purana?

(A) Brahma

(B) Vishnu

(C) Kalki

(D) Agni
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Where was the ‘granary’ found?
(A) Ropar

(B) Harappa

(C) Mohenjodaro

(D) None of the above

Who is the author of Ramcharita?
(A) Tulsidasa

(B) Sandhyakar Nandi

(C) Bharavi

(D) Panini

In which part of India is the Port of
Tamralipta situated?

(A) Southern

(B) Western

(C) Northern

(D) Eastern

Which of the following does not
match?

(A) Magadh—Rajgriha
(B) Surasena—Mathura
(C) Anga—Sravasti

(D) Malla—Kushinara

The founder of the Mauryan dynasty
was

(A) Bimbisara
(B) Ashoka
(C) Dhanananda

(D) None of them
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‘Sabha’ and
during the

‘Samity’ were found

(A) Rig-Vedic Age

(B) Later Vedic Age

(C) Indus Valley Civilization

(D) None of the above
‘Matsyanyaya’ prevailed in Bengal
prior to the accession of

(A) Surapala

(B) Dharmapala

(C) Gopala

(D) Devapala

Who among the following did not
belong to the Vedic period?

(A) Lopamudra

(B) Gargi

(C) Apala

(D) Khana

Ur’ and Kurumba’ were the features
of which administration?

(A) Chola
(B) Chalukya
(C) Pallava

(D) None of the above

Which Gupta Emperor thwarted

Huna invasion?

(A) Chandragupta II
(B) Skandagupta
(C) Kumaragupta

(D) None of them

11.

12.

13.

14.

15.

STer’ ¢ RS’ @ Lol (AT New (T,
9l 29

(A) 4=-Cam Fal

(B) ~w<el s gal

(C) o srerer

(D) €*IR @D T

i Prepw  ScEEeR el AT
TR’ w1 et 2

(A) TETE

(B) &=eIre

(C) canmat

(D) CRE

GO W (F CAm Jeol fegem 1 2
(A) Mm@l

(B) s

(C) =T

(D) =l

TY GR FLF (P HPRER G
et 2

(A) o

(B) B

(C) &=

(D) T°[Cad (T2

@M 8% TEL T W 2fene

AR ?
A) TaoR twey
(B) TWRBY

(C) IR
(D) 4T (T3



16. Where was the capital of the 16. TSRS Gl (FIAR SZ© e 2
Satavahanas situated?

(A) =P
(A) Nasik
(B) STHRM
(B) Aurangabad
(C) Paithan (©) tpm
(D) None of the above (D) T (IR 7
17. Find the odd one out. 17. o (IR I 2
(A) Hastinapur (A) m‘ﬁﬁ
(B) Nalanda (B) =
(C) Taxila © © -
(D) Vikramshila
(D) R
18. Who constructed the lion-headed
pillar of Sarnath? 18. WReed Pz wet & ff
(A) Chandragupta Maurya PIRICHRCT 2
(B) Bindusara (A) TRBY (T
(C) Bimbisara (B) Rmpi=
(D) None of them (C) &R
19. Which of the following is not correct (D) U (FTE T

about Gandhara School of Art?

(A) It flourished during the reign of 19. AT T CFea Moo G 217

Harshavardhana (A) T wNee @2 i Ko =1

(B) Peshawar was the famous
centre for it

(B) e feet @2 Micgm Riume %

(C) It was an amalgamation of Indo- ©) @2 g eReR-Ae-AEhie Aol
Greek-Persian art styles TIECE T €T
(D) The idol of Buddha was created (D) @2 TR (T I AT =7

in this time

20. (F I T 2r2e FearRer 2
20. Who adopted the title of ‘Sakari’?

(A) Skandagupta (A) Fred

(B) Samudragupta (B) THusd

(C) Chandragupta—II (C) TaSR Pmea
(D) None of them (D) GO (T2 oI
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Which of the following dramas was
written by Harshavardhana?

(A) Ratnabali

(B) Priyadarshika
(C) Nagananda

(D) All of the above

Bimbisara and Sariputta were the
disciples of

(A) Buddha
(B) Mahavira
(C) Ashoka

(D) None of them

Who built the
temple at Ellora?

famous Kailasa

(A) Pallavas

(B) Rashtrakutas

(C) Cholas

(D) Chalukyas

Pulakesin II was the greatest king of
which dynasty?

(A) Chola

(B) Pallava

(C) Chalukya

(D) None of the above

Whose policy was  ‘Grahana-

Moksha-Anugraha’?

(A) Chandragupta—I
(B) Chandragupta—II
(C) Skandagupta

(D) Samudragupta
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Which Chola king is credited with
the expansion of the empire outside
India?

(A) Rajaraja Chola
(B) Rajendra Chola
(C) Rajadhiraj Chola
(D) Rajendra Chola II

Who among the following was not
a monarch of the Rashtrakuta
dynasty?

(A) Dhruba
(B) Tailap
(C) Dantidurga
(D) Govind III

The author of Swapna Basavadatta
was

(A) Kalidas
(B) Bharavi
(C) Vhasa
(D) None of them

Who introduced ‘Dharma Yatra’?
(A) Harshavardhana

(B) Hiuen Tsang

(C) Ashoka

(D) None of them

Who among the following was not
associated with the discovery of the
Indus Valley Civilization?

(A) Rakhal Das Bandyopadhyay
(B) Dayaram Sahani

(C) Jonn Marshall

(D) D. D. Kosambi

26.

27.

28.

29.

30.

& O A B i 4 IS S [AOE B | Y B
fIcas Phog ez ?

(A) ARSI BT
(B) ACE™ &

(C) [reTfEE (Ole
(D) faSk ACE® B&t

GO T (F AGFH R Al f>eeT 2
(A) &
(B) Cwei7l

(C) whegef
(D) Tor (oM™

¥ IPTSl-H AOTS] B
(A) e

(B) =4l

(C) =M

(D) GMF (FE2 7

(P 4@’ - ol PR 2
(A) 2T

(B) f2ca

(C) STz

(D) T (T3

G T (@ P Terel SIRgicE e
& facem 7

(A) SRR ICTINGR
(B) WIS el

(C) o= e

(D) fo. fE. @rfy

[ PTO



31.

32.

33.

34.

35.

118

Which of the following statements is
correct about Iltutmish?

(A) He was the founder of the Slave
Dynasty

(B) He was defeated by Chingiz
Khan

(C) He introduced the coins—Tanka
and Jital

(D) He built the Alai Darwaza

Ibn Batuta visited the court of
(A) Muhammad bin Tughluq
(B) Firuz Shah Tughluq

(C) Ala-ud-din Khilji

(D) Itutmish

The first Battle of Tarain was fought
between

(A) Prithviraj Chauhan and
Mohammad Ghori
(B) Prithviraj Chauhan and

Jaichand
(C) Mohammad Ghori and Jaichand
(D) None of them

‘Doha’ was composed by
(A) Namdev

(B) Nanak

(C) Kabir

(D) None of them

Which of the following battles was
not fought by Sher Shah?

(A) Battle of Bilgram
(B) Battle of Gharghara
(C) Battle of Chausar
(D) Battle of Surajgarh
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‘Igta’ was first introduced in India by
(A) Qutb-ud-din Aibak

(B) Balban

(C) Ala-ud-din Khilji

(D) [Ntutmish

The Battle of Haldighati was fought
between Rana Pratap and

(A) Akbar
(B) Humayun
(C) Sher Shah

(D) None of them

Which independent kingdom was
created after the disintegration of
the Bahmani kingdom?

(A) Bijapur

(B) Berar

(C) Bidar

(D) All of the above

Name the author of Padmavati.
(A) Malik Mohammad Jayasi
(B) Rani Padmini

(C) Gulbadan Begam

(D) None of them

Which of the following was not built
by Shah Jahan?

(A) Diwan-i-Khas
(B) Buland Darwaza
(C) Moti Masjid

(D) Jama Masjid
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Who introduced the Zabti’ system in
the revenue administration of the
Mughals?

(A) Akbar

(B) Jahangir
(C) Shah Jahan
(D) Aurangzeb

Akbar’s ‘Navaratna’ did not include
(A) Birbal

(B) Badauni

(C) Man Singh

(D) Tansen

Who among the following was not a
Sufi saint?

(A) Main-ud-din Chisti

(B) Zia-ud-din Barani

(C) Nizamuddin Auliya

(D) Salim Chisti

Name the ruler of Gondwana who
was defeated by Akbar in 1564.

(A) Chand Sultana

(B) Razia Sultana

(C) Rani Durgawati

(D) None of them

Who were known as the ‘Sayeed
brothers™

(A)
(B)

Hussain Ali and Abdullah

Hussain Mohammad and

Abdullah Khan

(C) Liagat Khan and Mohammad

Abdullah

(D) Hussain Ali and Liagat Khan
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Who among the following was not a
Rajput opponent of Akbar?

(A) Rana Udai Singh
(B) Rana Pratap
(C) Rana Amar Singh

(D) Rana Sangram Singh

Identify the wrong statement about
Chaitanyadev.

(A)
(B)
(C)

He was born in Bengal
He denounced casteism

He introduced ‘Kirtan’ as a way
of worship

(D) He enriched Sufism

Who among the following painters
was patronised by Jahangir?

(A) Farukh Beg

(B) Jagannath

(C) Asaf Khan

(D) None of them

Which Sultan of Delhi is famous for
his ‘price control policy’?

(A) Iltutmish

(B) Balban

(C) Ala-ud-din Khilji
(D) None of them

Which statement is incorrect about
Sher Shah?

(A) He fought against Humayun
(B) He issued Patta to the Ryots
(C) He reigned for ten years

(D) He died in 1545
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Identify the incorrect statement
regarding the contribution of the
Bhakti saints.

(A) Emancipation of women
(B) Opposed untouchability
(C) Religious intolerance

(D) Opposed casteism

Which Sultan of Delhi intended to
conquer Khorasan and Karajal?

(A) Firuz Shah Tughluq

(B) Muhammad bin Tughluq
(C) Ghiyas-ud-din Balban
(D) None of them

Who is known as ‘Colombus of

Mughal history’?
(A) Amalesh Tripathi
(B) Jadunath Sarkar
(C) Irfan Habib
(D) Gautam Bhadra

Mansabdari system was introduced
by

(A) Babar

(B) Sher Shah
(C) Jahangir

(D) None of them

The Sultan of Golconda, a
contemporary of Aurangzeb was

(A) Sikandar Adil Shah
(B) Abul Hassan

(C) Abdullah Pani

(D) None of them
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Who was the Nawab of Bengal
during the Battle of Buxar?

(A) Mir Kasim
(B) Miran
(C) Mir Jafar

(D) None of them

Between whom was the Treaty of
Bassein signed?

(A) Marathas and British
(B) Hyder Ali and British
(C) Hyder Ali and Baji Rao

(D) None of them

Which treaty was concluded after
the second Anglo-Mysore War?

(A) Treaty of Seringapattam
(B) Treaty of Mysore
(C) Treaty of Mangalore

(D) Treaty of Deogaon

Who organised ‘Khalsa’™

(A) Guru Ramdas

(B) Guru Arjan

(C) Guru Ravidas

(D) Guru Govind Singh

Which power was defeated in the
Battle of Chillianwala?

(A) Marathas

(B) Afghans

(C) Mughals

(D) None of the above
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When was Permanent Settlement
introduced in Bengal?

(A)
(B) 1757

1765

(C) 1790

(D) None of the above

Indian Railways started its journey
on
(A) 1856

(B) 1857

(C) 1853

(D) 1900

Which one of the following was

founded by Ram Mohan Roy in
1828?

(A) Brahmo Sabha
(B) Brahmo Samaj
(C) Atmiya Sabha
(D) None of the above

Aligarh Anglo-Oriental college was
established by

(A) Syed Amir Ali

(B) Abdul Latif

(C) Syed Ahmed Khan
(D) Rafi Ahmed Kidwai

Who is the author of Satyartha
Prakash?

(A) Jyotirao Phule
(B) Dayanand Saraswati
(C) Lala Hansraj

(D) None of them
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Identify the incorrect statement

about Annie Besant.
(A)
(B)

She was an Irish lady

She was elected the President of
Calcutta Congress in 1917

(C) She was the editor of the

newspaper ‘Young India’

(D) She was a member of the

Theosophical Society

Which of the following
established by the Derozians?

(A) Tattwabodhini Sabha

was

(B) Academic Association
(C) Academy Association

(D) United Association

Lord Cornwallis was not associated
with

(A) Code Cornwallis

(B) reformation of police
department

(C) introduction of Civil Service in
India

(D) establishment of Fort William

College

Identify the correct pair.

(A) Indigo Revolt—1855-56

(B) Santhal Rebellion—1899-1900
(C) Pabna Uprising—1872

(D) Munda Rebellion—1859-60

The Mughal Emperor during the
Great Revolt was

(A) Bahadur Shah I
(B) Bahadur Shah II
(C) Mansur Ali Khan
(D) None of them
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When was the Carlyle Circular

issued?

(A) July, 1905

(B) October, 1905

(C) September, 1906

(D) August, 1906
“Freedom is my birthright.” Who
said this?

(A) Gandhiji

(B) Subhas Chandra Bose
(C) Aurobinda Ghosh

(D) None of them

Who among the following did not
participate in the Great Revolt of
18577

(A) Ranjit Singh
(B) Laxmi Bai

(C) Tantia Topi
(D) Nana Sahib

The Second Session of the Indian
National Congress was held in

(A) Bombay
(B) Calcutta
(C) Madras
(D) Poona

The first split of the Indian National
Congress occurred in

(A) 1900
(B) 1905
(C) 1911

(D) 1907
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Chandrasekhar Azad was associated
with

(A) Hindustan Socialist Republican
Association

(B) Gadar Party
(C) Theosophical Society

(D) None of the above

Who was not an associate of

Surya Sen?

(A) Kalpana Datta
(B) Ananta Singh
(C) Loknath Bal
(D) Prafulla Chaki

Who  established
League?

the Muslim

(A) Theodore Beck
(B) Syed Ahmed Khan
(C) Nawab Salimullah
(D) None of them

Who was not a moderate leader of
the Indian National Congress?

(A) Dadabhai Naoroji

(B) Romesh Chandra Dutta
(C) Bipin Chandra Pal

(D) Ferozeshah Mehta

Who was the Member of both Cripps
Mission and Cabinet Mission?

(A) A. V. Alexander
(B) Stafford Cripps
(C) Pethic Lawrence

(D) None of them
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Who was the leader of the Farazi
Movement?

(A) Titumir

(B) Shariatullah
(C) Feroze Shah
(D) None of them

Who was the first President of the
Anushilan Samiti?

(A) Surya Sen

(B) Pramatha Nath Mitra

(C) Jatindra Nath Mukherjee
(D) None of them

Who was the head of the Regent
Council at the time of Tripura’s
accession to India?

(A) Kanchan Kanya Debi

(B) Tulsibati Debi

(C) Jashodhara Debi

(D) Kanchan Prabha Debi

“Give me blood, I shall give you
freedom.” Who said this?

(A) Rashbehari Bose

(B) Subhas Chandra Bose

(C) Bhagat Singh

(D) None of them

Which Mughal Emperor was a
contemporary of Vijay Manikya?

(A) Akbar

(B) Aurangzeb
(C) Shah Alam
(D) None of them
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Who built the ‘Neermahal’?

(A) Radhakishore Manikya

(B) Bir Chandra Manikya

(C) Bir Bikram Kishore Manikya
(D) None of them

Who was the first Indian Governor
General?

(A) Rajendra Prasad
(B) C. Rajagopalachari
(C) S. Radhakrishnan
(D) B. R. Ambedkar

Who is the leader of the Telengana
Movement?

(A) P. Sundaraiya
(B) Kasim Rezvi
(C) C. R. Rao

(D) None of them

Who was the first President of USA?
(A) John Adams

(B) Thomas Jefferson

(C) George Washington

(D) Benjamin Franklin

The author of The Spirit of the Laws
was

(A) Rousseau
(B) Voltaire

(C) Danton

(D) Montesquieu

Who presided over the Vienna

Congress?

(A) Tsar Alexander I
(B) Metternich

(C) Castlereagh

(D) None of them
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When did February Revolution
occur?

(A) 1848
(B) 1830
(C) 1871
(D) 1870

‘Safety Lamp’ was invented by
(A) George Davy

(B) Humphrey Davy

(C) Godfrey Davy

(D) Louis Davy

The Treaty of Frankfurt was signed
in

(A) 1871

(B) 1870

(C) 1876

(D) 1860

The signatory countries of
‘Dreikaiserbund’ were

(A) France, Austria and Germany
(B) Austria, Germany and England
(C) France, England and Russia

(D) Germany, Russia and Austria

Which country was not a party to
the Triple Alliance?

(A) Germany
(B) Austria
(C) Britain
(D) Italy

treaties were
Paris Peace

How many major
signed in  the
Conference?

(A) 5
(B) 4
(€) 6
(D) 2
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Which of the following pairs is
correct?

(A) John Key—Spinning jenny
(B) Hargreaves—Power loom
(C) Cartwright—Flying shuttle

(D) Crompton—Mule

Which of the following countries was
invaded by Mussolini in 1935?

(A) Greece

(B) Yugoslavia

(C) Abyssinia

(D) Albania

2017 is the centenary of which
revolution?

(A) French

(B) July

(C) Spanish

(D) Russian

Atlantic Charter was announced by
(A) Roosevelt and Chamberlain
(B) Churchill and Roosevelt

(C) Churchill and Truman

(D) Chemberlain and De Gaulle

Cavour was the Prime Minister of
(A) Sicily

(B) Rome

(C) Piedmont-Sardinia

(D) None of the above
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103. The Treaty of Wanshia was signed | 103. B 32 (9 AMFA Ty SRR E%

between China and HEHRS BCARE 2

(A) Britain (A) =

(B) USA (B) Wk T&1g

(C) France (C) Z™

(D) Belgium (D) @efem
104. The World War II began on 104. H3n m wF =

A) 1st Septemb 1939
(A) 1st September, (A) 18T CTCH%94, 1939 A

B) 31st August, 1938
(B) gt (B) 31¢< =9PG, 1938 M
(C) 6th August, 1940
(C) 6% H5PB, 1940 ACA
(D) None of the above

(D) T°[Caq (T2
105. The First Chairman of the People’s
Republic of China was 105. SINZEToF] SIC 22 (BRI fReete
(A) Li Tao-chao (A) fer-wle-vie
(B) Chou En-lai (B) (R-«=1-w11%
(C) Mao Tse-tung (C) wre-01-$
(D) Chen Tu-hsiu (D) m.@.ﬁﬁ;

106. Which of the following pairs is | 106. o @ cere 5 2
correct?

(A) COICE—&T
(A) Tojo—Germany

(B) Franco—Spain (B) FICF—C7
(C) Hitler—Italy (C) fRbeT—2eife
(D) Mussolini—Japan (D) W—W"{W
107. The author of Red Star Over China | 107 f};;; Star Over China 2®Bd @4
was
(A) Mao Tse-tung (A) e G-
(B) John Reed (B) &= Fre
(C) Edgar Allan Poe (©) U < o
(D) Edgar Snow (D) € C
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Which country was not a Member of
Arab League in 1945?

(A) Iraq

(B) Syria
(C) Israel
(D) Egypt

Who popularized the term ‘Cold

War™?

(A) Walter Lippmann
(B) F. H. Hartmann
(C) Louis Halle

(D) Issac Deutcher

Bangladesh declared its

independence on

(A) 26th March, 1971
(B) 21st February, 1952
(C) 11th December, 1971
(D) None of the above

Which country did not participate in
the first SAARC Meet?

(A) Pakistan

(B) Afghanistan

(C) Nepal

(D) India

Who was never a leader of the Non-
Aligned Movement?

(A) Jawaharlal Nehru

(B) Gamal Nasser

(C) Marshal Tito

(D) Joseph Stalin

The first President of Socialist
Republic of Vietnam was

(A) Ho Chi Minh
(B) Fam-Van-Dong
(C) Nguyen Giap
(D) None of them
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The Revolt led by Hung Hsiu-Chuan
was known as

(A) Boxer
(B) White Lotus
(C) Red Lotus

(D) None of the above

Who was known as ‘Fuehrer’?
(A) Mussolini

(B) Bismark

(C) Hitler

(D) Kaiser William II

Two big powers involved in Cuban
Missile Crisis were

(A) Cuba and USA
(B) USA and USSR
(C) USSR and Cuba

(D) None of the above

Who introduced the salary system in
the history of Greece?

(A) Pericles
(B) Solon
(C) Ephialtes

(D) None of them

The general assembly in the Spartan
constitution was known as

(A) Gerousia
(B) Iphret
(C) Apella

(D) Helot
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Which of the following was a
contribution of Napoleon?

(A) Establishment of the Bank of
France

(B) Concordat of 1801

(C) Establishment of University of
France

(D) All of the above

In whose reign was the first volume
of Ragjmala composed?

(A) Dharma Manikya
(B) Dhanya Manikya
(C) Amar Manikya

(D) Govinda Manikya

When was Tripura Sundari Temple
built?

(A) 1500

(B) 1501

(C) 1600

(D) 1601

Ishan Chandra Manikya faced the
Revolt of the

(A) Reangs

(B) Kukis

(C) Tipra

(D) None of the above

Which of the following pairs is
correct?

(A) Mailuma—Goddess of corn

(B) Lam-Pra—Goddess of
plant

(C) Khalu-Ma—God of healing

(D) Bura-Cha—Deities of sky and
sea

cotton

Who founded the Maharani Tulsibati
School?

(A) Bir Chandra Manikya
(B) Radhakishore Manikya
(C) Bir Bikram Manikya
(D) None of them
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Who did not participate in the initial
stage of Jana-Siksha Movement?

(A) Hemanta Debbarma
(B) Dasharath Deb

(C) Sudhanwa Debbarma
(D) Nripen Chakraborty

During whose reign did tea

plantation begin in Tripura?

(A) Bir Chandra Manikya

(B) Radhakishore Manikya

(C) Birendra Kishore Manikya

(D) Bir Bikram Manikya

The two generals who fought against

Hussain Shah in favour of Dhanya
Manikya were

(A) Ghanshyam and Raikachak
(B) Ghanshyam and Raikacham
(C) Raikachak and Birbhadra
(D) Raikachak and Raikacham

Which was edited by Kaliprasanna
Sen?

(A) Sri Sri Rajmala

(B) Sri Raymala

(C) Ragjmala

(D) Rajmala Parichay

Who were associated with writing
the first volume of Ragjmala?

(A) Baneswar and Someswar

(B) Sukreswar and Debeswar

(C) Someswar and Debeswar

(D) Sukreswar and Baneswar

not
the

Radhakishore Manikya was
associated with which of
following?

(A) Publication of Tripura State
Gazette

(B) Abolition of Sati
(C) Rebuilding of Ujjayanta Palace
(D) Foundation of V. M. Hospital
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Who conferred the title of ‘Bharat
Bhaskar’ on Rabindranath Tagore?

(A) Radhakishore Manikya
(B) Birendra Kishore Manikya
(C) Bir Chandra Manikya

(D) None of them

Who shifted the capital of Tripura
from Puratan Agartala to Agartala?

(A) Amar Manikya

(B) Kashichandra Manikya
(C) Ishan Chandra Manikya
(D) Krishna Manikya

Which country has never been a
member of NATO?

(A) USA

(B) Iceland

(C) USSR

(D) Britain

Which of the following informations
is incorrect about Nefertiti?

(A) She was from Rome

(B) She was known for her religious
revolution

(C) She worshipped one god
(D) She was the wife of Akhenaten

In which ancient civilization was the
system of slavery most widespread?

(A) Roman

(B) Egyptian

(C) Sumerian

(D) None of the above

Whose wife was Nurjahan?
(A) Shah Jahan

(B) Shah Alam

(C) Jahangir

(D) None of them
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Feudalism developed
during the

in Europe

(A) pre-historic Age
(B) ancient period

(C) medieval period
(D) None of the above

Who first raised his voice against the
Church and Papacy?

(A) Martin Luther
(B) John Huss

(C) John Wycliffe
(D) None of them

Joidev was the author of
(A) Govinda Charita

(B) Geet Gobinda

(C) Ramacharita

(D) None of the above

Which dynasty was founded by
Dantidurga?

(A) Chola

(B) Pratihara

(C) Chalukya

(D) None of the above

Who adopted the Policy of Welt-
politik™

(A) Bismarck

(B) Kaiser William I
(C) Kaiser William II
(D) None of them

The author of The Discovery of India
was

(A) Subhas Chandra Bose
(B) Jawaharlal Nehru

(C) Sarojini Naidu

(D) None of them
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The Hindu Widow Remarriage Act
was enacted in

(A) 1855
(B) 1856
(C) 1859

(D) 1858

What was common among
Ananda-mohan Bose, Rabindranath
Tagore, Surendra Nath Banerjee and
Krishna Kumar Mitra?

(A) They attended the first Session
of Indian National Congress

(B) They established the National
School

(C) They participated in the anti-
Partition of Bengal Movement

(D) They were
establishing
Bengal

pioneers in
industries in

Which Movement did Gandhiji begin
on 12th March, 1930?

(A) Khilafat

(B) Non-Cooperation

(C) Civil Disobedience

(D) Quit India

Which Government of India (Reform)
Act introduced Provincial Autonomy?
(A) Morley-Minto Reform Act, 1909
(B) Government of India Act, 1919
(C) Autonomy Act, 1921

(D) Government of India Act, 1935
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Who was not associated with the
Indigo Revolt?

(A) James Long

(B) Bishnu Charan Biswas

(C) Ram Mohan Roy

(D) Dinabandhu Mitra

Which Princely State merged with
India on the basis of a plebiscite?
(A) Junagadh

(B) Kashmir

(C) Hyderabad

(D) None of the above

In which Crusade,
participate?

Pope did not

(A) 2nd
(B) 6th
(C) 7th

(D) 4th

‘David’ is the creation of
(A) Raphael

(B) Titian

(C) Michael Angelo

(D) Leonardo da Vinci
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
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1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (FICTIE2 OMR Teae[@fb ©% F9¢3 1 | OMR TS0 (GRS 7151 F161 A T80 (1< A 11 | A1 Sroma
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Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.
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The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR TS (BN 2R (FCHR T0Cd ~FrHI-1:B I F6 Wi F1 2031 TP R SR TG IS €
FCOI SRCTADD FIE (TS IR AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.
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Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.
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BB b OMR Twglq & (ReqIq 7N |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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